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Questlons 1 to 10 carry 1 mark each. Q 1 to 15 carry 2 marks each.
For each question, four options are given: One of them is the corréct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer sheet. (20 marks)

1. Round off 298 292 to the nearest thousand.
(1) 298000
(2) 298 290
(3) 298 300

(4) 300 000

2. Express —"-3—:5« as a decimal.

1) 52
(2) 5.5
(3) 7.2

4) 7.5

3. When a number is divided by 7, the quotient is 8 and the remainder is 3.
What is the number?

(118

(2) 56

(3) 59 | | ‘
C@wes -



The figure below shows a semicircle with diameter 14 cm. Find the area of

the semicircle.

(Take n=37-2-) |

(1) 77 om?
(2) 154 cm®
(3) 308 cm?
(4) 616 cm?

Below are three containers with some water. Arrange the volume of water in
containers A, B and C from the largest to the smallest.

T 60eml

(1) AB.C
(2 BCA
3) C.BA
(4) C.AB

A3



A tank with height 8 cm has a rectangular base of length 15 cm and breadth

10 ecm. How much water is needed to fill %of the tank?

(1) 0.900¢
(2) 9.000¢ 8 cm
(3) 90.00¢ 10 em
(4) 900.0¢ 15em

The average of a set of 4 numbers is 80. The average of another set of 2
numbers is 50. What is the average of the 6 numbers?

(1) 45
(2) 65
(3) 70

{4y 1307

- Taylor is facing -east. She turned anti-clockwise to face north-west. How
many degrees did she turn?

(n 90° ?
(2) 135° N
(3) 180°

4y 2250

A4



10.

@)

The ratio of the number of boys to the number of girls in a class is 3 . 4.
Express the number of girls as a fraction of the total number of pupils.

M

S

(2)

én}w widh

~ b

A5



11,

12.

gure below shows a square. cardboard with length 10 cm. Two
£ ,aﬂ.squares with length 4 cm.were cut out from the cardboard.
Fmd the area of the remaining shaded part.

(1) 32cm?
(2) 40 cm?
(3) 68 cm?

(4) 84 cm?

In the figure below, AB. CD and EF are straight lines. Find za. .
b

(1) 25°

(2) B0°

(3) 55°

(4 75°

A8



13.

14.

On Wednesday, 95 pupils had their lunch in the canteen. On Thursday,
76 pupils had their lunch in the canteen. Find the percentage decrease in
the number of pupils who had lunch in the canteen.

(1) 20%

(2) 25%

(3) 75%

4) 80%

Henderson had $15 at first. He bouaht 2 erasers at $p each. He then
spent $3 on luncn. re usea tne remaining money 1o buy 3 identical pens.
Find the cost of 1 penin terms of p.

(1) $(9~p)
(2) $(4-2p)

12~p
3 Pl o
3) s

(4) 12 2”

A7



15.  The bar graph shows the number of each type of assessment books sold by a
shop.

90
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English Mathematics Science Mother Tongue

The table shows the prices of the assessment books.

Type of .

Assessment

books Price per book
Engiish $3.00
Mathematics $4.00
Science $2.00
Mother Tongue $5.00

From the sale of which assessment books did the shop collect the most
amount of money?
(1) English i
@ Mathematics
(3 Science
(4) Mother Tongue
| | (Go on to Booklet B)

A8
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Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided. For
guestions which réquire units, give your answers in the units stated. (10 marks)

16. What is the value of 84 + 2~ (7 x 4) + 6§?

Ans:
17. Find the product of 5 tenths and 50 tenths.
Ans
.52
18. How many sevenths are there in T2 ?
Ans:

B2 _Sub-'i_'otal:



n 19 ‘Thejfﬁgure. b%'Q\N'»SHQWS.-?Gm??? iQf.di'a“me:ter 7 cm;, with a quadrant removed

from it. What is the pe‘rimet‘er' of the figure?

(Take n .__37_2_)

r3
7

/

Ans:

20. Find the volume of the cuboid with a square base of iength 8 cm.

|1dem.-.

Ans:

B3 Sub-Total:

cm

- om




21. Jgd was in school from 6.15 a.m. to 9.05 a.m. How much time was he in school?
Express your answer in hour and minutes.

Ans. hr min

22. The line graph shows the number of computer games sold by a game shop from
May to August. :

50

40

30

20

10

May June July August

What is the average number of computer games soid per month?

Ans: .

B4 Sub-Total:




23 6:4:] | =24:-18:12

What is the missing number in the box?

Ans:

24. In the figure below, PR and QS are straight lines. Find Zy.

Ans: 0

25. Express 1;:- as a percentage. Give you} answer correct to 2 decimal places.

Ans: ] % f

B5 Sub-Total:




stions 26 to-30-carry 2 marks each. Show your working clearly in the space provided
estion and write your answers in the spaces provided. For questions which
units, give your answers in the units stated. (10 marks)

26. Maverick earns $6000 a month. He spends % of his saiary and. gives -} of the

remainder to his parents. He saves the rest. How much money does he save
every month?

Ans: §

27. In the square grid, complete the drawing of the triangle ABC whereby AB = AC
and £ CAB is aright angle. Measure the length of BC.

Ans: cm

- B6 Sub-Total:



28. The pattérn in the box shows part of a tessellation,
0] Shade a unit shape of the tessellation.

(i) Extend the tesseliation by drawing one more unit shape in space provided.

- f 3 [ »> & a [ R » .
Y - - - - -~ - * A *
- - &~ - & - - L4 » »

» M - - 34 »- - - v »
- [ 4 - - s & | L [ S -
® . - - [ ] - a *
* @ 4 ’ A 4 4 # 3 »
L » L [ ~¥ s ® | ot L 4 °

. 29. Al had dinner with his family. He paid a total of $143 including 10% service
charge. How much did the meal tost before the service charge was added?

“Ans:$

B7 Sub-Total:



30. Othello started reading boocks at the start of January. Each month, he
reads k books more than the previous-month. He reads 6k books in March. What
was the total number of books he read from the start of January to the end of
April? Leave your answer in terms of k. :

. ~End of Paper ~

B8 - ‘ ) Sub-Total:
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Questions 1 to 5.cany 2 marks each. Show your working clearly in the space provided
- for-each question-and write your answers in the spaces provided. For guestions which
require units, give your answers in the units stated. (10 marks)

1. The table below shows the charges of renting a pair of Ice skating shoes at
the lce Skating Centre.

|| For the first hour $7.80
Every additional 1 hour or part
there of $5.00

Michae!l rented 2 pairs of lce skating shoes from 2 p.m. to 445 p.m.
Calculate the total cost he had to pay for renting the 2 pairs of Iice Skating
shoes. :

... Ans: $

2. Two identical semicircles of diameter 40 cm were cut out from a circular
piec_e of paper, where AB is the diameter. Find the area of the remaining
paper in terms of 7. ‘ '

Ans:___- ___cm

2 Sub-Total: l !



nsor Schiool; the ratio of the number of Malay pupils to the
number of Indian pupils is 3 : 2. The ratio of the number of Malay pupils to
the number of Chi‘n‘eée ‘pﬁpﬂs 1s 5 : 2. Find the ratio of the number of Malay
pupils to the number of Indian pupils to the number of Chinese pupils.

Ans:

‘4 'Theré were 115 passéngers on a train. ‘The number of women was Léaf'i‘he' |

number of men. After a number of men alighted at a station, there was an
equal number of men and women. How many men alighted at the station?

Ans:




5. % of Ev-yanfs-;;.ma‘s.s;.:;:is;eq&al;,tc'&;—;;-of Fabian’s mass. Given that Fabian

weighs 8 kg more than Evan, find the total mass of Evan and Fabian$ .

Ans: kg

4 Sub-Total:




For questions 8 to 18, show.your working clearly and. write your answers in the
spaces provided. The number of marks available is shown in brackets | ] at the

end of each question or part-question. {50 marks)

6. The average number of marbles Joel and Ali had was 900. The average
number of marbles Joel and Wendy had was 480. The number of Ali's
marbles is 5 times the number of Wendy’s marbies, find the total number of
marbles Wendy and Ali had altogether.

Ans: ' (3]

7. MrKingsley is 45 vears old. He is 3 times as old as his son this year. What
was Mr Kingsley’s age when he was 4 times as old as his son?

Ans: I3

—

=4 Sl . Trtal-



8. The figure below is a square ABC_Q. AC is 20 cm. Find ~}its’-;are_"a.'

A

L
1
i
H
1
)
EH
i
3
3
H
¥
'
3
1
]
3
]
'
b
i
i
'
'
1
H
T
$

Ans: 131 .

6 - Sub—Total: {



9. Kes{e{savecj a total of $4840. —% of his savings was made up of $10 notes

and the rest was made up of $2 notes. How many notes did he have
altogether?

" Ans: [3]

10. ABCD is a parallelogram and FEBC is a rhombus. £ FEB is 96°.

Find £&BE
ADG

Ans; | [3}

"~y . N ™ 5 e s 8 [ I



11. -Lawrence spent % of his money on a washing machine. He spent —% of his

'remaihing money and an additional $250 on a computer. He then spent
$200 on a DVD player and had $30 left. How much money did he have at
first?

Ans: ' : ‘ '_ff[4]'. :

8 Sub-Total




ndra had.$240.at first. Every

they had the same amount-of money intheir piggy banks. -

(a) How many weeks did it take for them to have the same amount of
money in their piggy banks?

(b} How much money did they have in their piggy banks altogether?

Ans: (a) - [2]

() B

g ) Sub-Total:



- House towards Orchard Garden
e er. Car B travelled from
Orchard Garden towards Newten House ata umform speed of 40 km/h.

a) How far had Car A travelled when Car B left Orchard Garden?

b) The distance between Newton Hnuse and Orchard Garden was 35 km.
At what time would the Car A and Car B meet each other?

Ans: a) A1

b) @l

10 Sub-Total:



14.  Inthe ﬁgure beiow,;AFD.and EFB are straight lines. ED is parallel to BC.
4%= 84° and AF = AB.

a) Find £ AFB.

b) Find ~ EDF.

Ans: a) [ﬂ

4 A N ™. 1 Y bl , " ] -



15.  Bob used 70% of his money to buy 6 balls and 10 toy cars. The cost of
each bau is 3 times the cost of each toy car.. He. .bought more toy cars with
his remaining money. How many toy cars did he' buy altogether?

Ans: 4]

12 _ 7 Sub-Total



16 Danny’—bough!’»:some'sandwwhes and- apples The ratio of the number of

: ¢ of apples:was 5: 2. Danny's mother then gave
h;m anothier 30 sandwiches and 5 apples and the ratio of the number of
sandwiches to the number of appies-became 3 : 1.

(a) How many sandwiches did Danny buy?

(b) Danny bought the apples at 5 for $2 =ssl and the sandwiches at
$0.50 each. What was the total amount of money that Danny soent on
the food?

@@C‘)

5 for $2 ( $0.5O each J

Ans . (a) 3]

by S )

13 ) Sub-Total: - I— j



17. The figure below shows a placemat. The outside edge of the placemat is
formed by 6fﬁ}sémicir¢ies.énd 4 quarter circles, each of radius 4 em.
'a) Find the perimeteér of the placemat.
b) Find the area of the.placemert— pjacemat
Express your answers in terms of 7.

e 0 20 o 1ty 2 T s

b o e o e

- s 112 o i o s A N A 0 M B e

Ans: (a) 2]

o B

14 Sub-Total: { I



18. Winstedt Road is decorated with. light bulbs of different colours. The light
bulbs are p!aced at2m apart. The colour of the light bulbs foliow a
repeated colour pattern as shown below.

Red Blue Green Yellow Red Red Blue Green Yeiiow Red Red

Py /\‘- / ™~ 'mv‘-" FEERN e ‘*\ N /‘\ - \ Py :"
o ‘\;\ L W B . ; Y.
O ) fal = | i_.% o 3’ W e
G
2m

Complete the table below.

Light Bulb Number Colour
Red
Blue

Green

Yellow
Red
Red
Blue

Green

Yellow

OO~ WIN -

[ (a) (11

The total length of Winstedt Road is 2.5 km long,

' b)‘ How many light bulbs are there along Winstedt Fébad 2
c) How many light bulbs are red in colour?

(c) 2]

~ End of Paper ~
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EXAM PAPER 2016
LEVEL  : PR
SCHOOL : A
SUBJECT : MA

TERM : SA1
(o) Q2 Q3 Q4 Q5 Q6 Q7 Q8
1 3 3 1 4 1 3 2
Q9 Q1o Q1 Q12 Q13 Q14 Q15
3 4 3 1 4 1
Q16 84:2-28+6 Q17 0.5x5=2.5
=42-28+6
=14+6
=20
52 26 H
Q8 —-% Q19 .ierzxéx-)%’nd
EX*;‘X?
26+7=3R5 =11
- 122
3x7+5=26 quad=d»-xX—-x7
=5.5
1145.5+7
: =23.5cm
Q20 8x8x14=896 Q21 2 hr 50 min
- [Q22. . 12+14+30+40=96 Q23 12%4=3- :. - -
96+4+24 :
o LBO=AL0 666 66.6
Q24  110°-65°=45 Q25  0.666F P
66.6 =-66.86
Q26 6000+20=300 Q27 5.8cm
, 9u=» 9x300=2700
Q28 Q29 110%>143
1% 130
100%=> 130x100
=130
Q30 6K-K=5K
5K~-K=4K
. 6K~-K=7K T
- 7TK+6K+5K+4K=22K |
22K books.
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Ans: 1452 notes

11 - 5+5+7.80=17.80 Q2. 200mx2 =400
17.80%2=35.60 BigP -’
=7 40x40= 16007
16007 — 4007 = 1200%
Q3. M:1 M:C Q4. 5u>115
3:2 52 : 1u=>»115+5=23
15: 10:6 Ans:15:10:6
Q5. 23° 238 Q6. 4u=>»1800-960=840
4 8 3.9 1u=>» 840+4=210
1uas 6u> 6x210=1260
17uB17%8 = 136
Q7. 1u 45:3=15 Q8. 20:2=10
45-15=30 5x10= 50
1p=30+3=10 50x4 = 200cm?
1u 10x4=40 years old
Q9. 4840:2 = 2420
2420+10 = 242
2420+2 =1210
1210+242=1452




Q10. £CFB>180°-96=84°
84°+2=42°

£ AFC>180°-42°=42°=138°

£ FCD- 180°-138°=42°

£ ADCD 180°-42°-96°=42°

£ ADG 180°-42°= 138°

2u=>200+30+250=48
1u2>480+2=240
3u2240x3=720
2p>720

" 1p=2720+2=360
3p2360x3=1080

Q11.

Ans: 138° Ans: $1080
Q12. (a)300-240=60 Q13. (a) 60+4=15
8-6=2 Car A had travelled 15km
60+2=30 when
(b} 30x8=240 Car B left Orchard Garden.
240x2=480 (b) 8.00+15min=8.15
480x2=960 (a) 30 weeks 35-15=20
' (b) $960 60+40=100
100+5=20
60+5=1Z2min
8.15+12min=8.27a.m
Q14. a) £AFB=>»180°-72°=108° Q15. 18+10=28
108°-2°=54"° 28u=>70%
b) £ DEB=» 180°-84°=96° 1u=>»70+28=2.5
£ DEB=» 180°-54°-96=30° 2u-»30+2.5=12
- EOF 12u>30%
12+10=22

a) 6u+15=5u+30
6u-5u=30-15
lu>15

Q16.

b) ¥75x0.5=37.50
A (15x2)~5x2=12
$37.50+$12= $49.50

5u 5x15=75 sandwiches |

Q17. a) Semi=»¥nd
=1 xntx8=41
. ,6sP4nx6=241w .
quad= Yimd=Y%xtx8=2m
4q=> 21tx4=81
Total=» 81t+24n=32n

| b) Semi= Yorr?

Q18.
a) Yellow
b) (1250+1=1251)
c¢) 250x2+1=501

=Yoxmx4x4=811
6 Semi» 6x8n=48n
quad=>» Yimr?
=l x4 x4=4m
4q=»4x4n=16m
Rec» 8x4=32
2 Rec>2x32=64
Square=» 16x16=256
Total» 256+64=320
~ 16148n=641 cm? B




